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PART—A

Directions (For the 10 items which follow) :

(i} In this section, a number of sentences are given. The sentences are underlined in three
separate parts and each one is labelled {a), (b) and {c). Read each sentence to find out
whether there is an error in any underlined part. No sentence has more than one
error. When you find an error in any one of the undetlined parts {a}, (b} or (c), indicate
your response on the Answer Sheet at the appropriate space. You may feel that there
is no error in a sentence. In that case, {d) will signify a ‘No error’ response.

{ii) Errors may be in grammar, word usage or idioms. There may be a word missing or
there may be a word which should be removed.

(iii) You are not required to correct the error. You are required only to indicate your
response on the Answer Sheet.

1. Let us bring this discussion to close. No error

(a) (b) fc) {d)

2. Each of them have a different version of the crime. No error

(@) (b) fc} (d)

3. 1 and Gopal went to the meeting together. No error
{a) (b) () {d)

4. Latin is not only hard to write but also to read. No error

(a) (b) ) (d)

5. In most villages the roads are rough; isn't it? No error

(a} (b) {c) (d)

Q-OEBA-M-HBU/49A 2



6. Despite of continuing pain she worked at her temporary summer job

(a) (b)

most of the week. No error

(c) ()

7. As soon the film started I developed an irritating headache. No error

{a) (b} {c) (d)

8. He applied for an employment in an office. No error

(a) (b} (c) (d)

9. Though we drove fast, the train left, before we could reach the station.

a) (b) (c)

No error

(d)

10. One Indian virtue that has impressed me greatly and touched me deeply

(a) (b)

was the Indian people’s freedom of rancour. No error

(c) ‘ (d)
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Directions (For the 10 items which follow} :

Each of the following items consists of a sentence followed by four words or groups of
words. Select the synonym of the word or wards {occurring in the sentence in capital letters)
as per the context.

11. The convict’s INGENUQOUS explana- 16. His information is not AUTHENTIC.
i b ht t 1 .
tion broug ears In every eye (a) Real (b) Reliable
(a) Candid (b) Secret () Believable  (d} Genuine
(c) Insincere (d) Consistent 17. He is not CUT OUT to be a teacher.
12. The ENORMITY of the population fa) Trained (b)  Suited
problem is irksome. {c) Selected {d} Guided
fa) Intensity (b) Vastness 18. The Chief Minister REPRIMANDED .

the officers for their methods of

c) Cruelty (d) Fragility handling the public.

faj Adulated

13. EXAGGERATION of facts would
always lead to confusion. (b) Scolded severely

{a) Simplification {c} Disapproved of

fb) Negation {d) Suspended
fc) Emancipation 19. Sin is the sole calamity that a wise
man should APPREHEND.

(d) Amplification (a) Give up

' b) Di
14. After his father’s death, he became (b) Discourage

INSOLVENT. {c¢} Comprehend
fa) Rich (b} Poor (d) Fear
| {c) Bankrupt {d) Nonchalant 20. We must be proud of our cultural ’
HERITAGE.
15. He INDUCES human beings to want fa) Things we make for ourselves -

things they don’t want.
& Y (b) Things we have lost

{a) Influences (b) Dictates fc) Things we have from the past
fc) Persuades {d} Appreciates (d} Things we do for others
Q-CEBA-M-HBU/49A 9
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Directions (For the 10 items which follow) :

Each of the following items consists of a sentence followed by four words. Select the
antonym of the word (occurring in the sentence in capital letters) as per the context.

21.

22,

23.

24,

The  COMPLAINANT was not
supportive of providing all facts in
the court.

fa) Defendant (b} Advocate

{¢) Indulgence (d) Servant

Living in a SOLITARY place brings in
some kind of satisfaction.
{a) Limited (b} Exotic

{c) Healthy {d} Populous

They spent a DISTURBED night after
hearing the tragic news.

fa) Restless {b) Sleepless

fe) Mournful {d} Peaceful

We have CREATED a beautiful new
house from out of the old ruin.
fa) Destroyed (b} Built

fc) Constructed (d) Planned

25. A large number of designer clothes

are REVOLTING.
fa) Inviting {b) Beautiful

(c/ Fashionable (d} Delightful

Q-OEBA-M-HBU/49A

26.

27.

28.

29.

30.

Though they are twins, they look
very DIFFERENT.
(o) Regular fb) Same

{c} Similar {d}) Uniform

RECESSION is a major cause of
unemployment.

{a) Education

(b} Inflation

{c] Poverty

(d} Computerization

He finally CONCEDED that he was
involved in smuggling.

{a} Admitted (b) Accepted

{c) Denied (d) Concealed

The accused emphatically DENIED
the charge in the court.
{a) Accepted (b} Agreed

{c)] Asserted {d} Affirmed

This cloth is a COARSE of touch.
{a) Delicate (b} Rough

{c¢} Painful {d)] Harsh

[P.T.O.




Directions (For the 10 items which follow) :

In the following éentences, parts of the sentences have been jumbled up. You are required to
rearrange these parts which are labelled P, Q, R and S to produce the correct sentence.
Choose the proper sequence and mark in your Answer Sheet accordingly.

31. even when are well informed people engaged in a conversation
P Q R

their conversation may be dull
S

The correct sequence should be

fa) QSPR fb} PRQS
fc) SRQP (d) SQRP
32. a pressure cooker fits tightly on the top consists of a very strong vessel ‘

P Q R

made of an aluminium alloy with a lid that
S

The correct sequence should be
(a) PRSQ (b) RSPQ
{c) QSPR {d} PQSR

33. is to convince your reader the aim of an argumentative essay

P Q

you have taken on a subject is right that the position
R - S

The correct sequence should be

I {a) SQPR (b} RQSP
fc) POSR {d) QPSR
O-OEBA-M-HBU/49A 6




34. there is only one way the world can be

in which ‘made safe from the war

P Q

The correct sequence should be
fa) RQSP
{c} PQSR

(b)
(d)

35. the conspiracy got wind of

the Government

R S

PRQS
SPRQ

against the king’s life

P Q R

The correct sequence should be
fa) PQRS
{c} PSQR

(b}

36. to death penalty is that

in preventing the crime

S

RQPS

(d} SPOR

the important objection

P Q

it has not succeeded
S

The correct sequence should be
fa) PRSQ
{c) RPSQ

(b)
{d)

37. choice carefully when you want to use

R

PSRQ
QSPR

make your

P Q

a graphic representation for your data
S

The correct sequence should be

(a} QRSP (b)
{c) PRQS (d}
Q-OEBA-M-HBU/49A 7
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38. he would like to see some changes but as a junior lecturer
P Q

he does not cut much ice in the curriculum
R S

The correct sequence should be
(a) PORS

(b} QPSR ‘

{c} QRPS

(d) PSQR

39. he simply starves even when there are good crops but if the crops fail
P Q R

he lives from hand to mouth
S

The correct sequence should be
fa} SQRP
(b) PQRS
fcj SRQP
(d) SPQR

40. providence had helped me to retain my true identity and
P Q
changed the course of my life in the process
R S

The correct sequence should be
fa) PSQR
fb) PQSR
{c RSQP
{d) PRQS

Q-OEBA-M-HBU/49A 8
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Directions (For the 10 items which follow) :

Read the following three passages and answer the items that follow each passage.

PASSAGE—1

Even in the most primitive societies, the great majority of people satisfy a large part of their
material needs by exchanging goods and services. Very few people indeed can make for
themselves everything they need—all their food, their clothes, their housing, their tools. Ever
since men started living in communities, they have been satisfying their needs by means of
specialization and exchange; increasingly each individual has concentrated on what he can
do best, and has produced more of the special goods or services in which he has
concentrated, than he can consume himself. The surplus he has exchanged with other
members of the community, acquiring, in exchange the things he needs that others have

produced.

41. According to the passage, the great
majority of people can satisfy their
needs today by

fa) providing things for themselves
(b} exchanging goods and services

(c/ concentrating on what they can
do best

{d} individual specialization
42. Exchange of goods becomes possible
only when
{a} there is no specialization
fb} goods are produced in surplus

e} primitive  societies  become
modern

(d) individuals make things for
themselves

Q-OEBA-M-HBU/49A 9
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44,

Specialization and exchange began
when men started

fa) big industries
fb) concentrating on their work

(c] producing things for individual
use

{(d) living in communities
Exchange of goods and services
becomes necessary because

(@) man is a social being

fb) reciprocity is the law of life

fc} trade and comimerce are means
of progress

(d) we cannot produce everything
we need ourselves

[P.T.O.




PASSAGE—2

What interests many people is the possibility of finding an Earth-like planet, and many
science fiction stories have been woven around the possibility of there existing a planet
somewhere in the universe which is an exact replica of the Earth. There are too many
variable quantities for this to be a possibility worth considering. What is possible, if planetary
systems are common as they seem to be, is the existence of planets where the conditions are
similar to conditions on the Earth and to which our form of life could rapidly adapt. If life had
gained a foothold on such a planet, it is possible that life closely paralleling our own planet
could have developed.

What sort of conditions is necessary for life as we know it to develop? First of all of course a
suitable planetary body is essential. Given this, then two vital conditions must be satisfied.
The temperature must be neither too hot nor too cold, since intense heat breaks down
organic molecules and severe cold prevents activity from going on. Too much short-wave
radiation also upsets living organisms. The other prerequisite is a suitable atmosphere
sufficiently dense to give protection from radiation and meteorites and containing oxygen and
water vapour in reasonable quantities.

45. This passage suggests that there {c) the planetary system exists

(a) cannot be another planet like

the Earth (d) many people have shown

interest in it

{b} are other planets like the Earth
mentioned only in stories

47. The statement, “If life had gained a
{¢} may be other planets like the foothold on such a planet” means
Earth in this universe that

(d) is a planet which is exactly like ' o .
the Earth fa) if there is life on the planet, it

would be like ours

46. The hypothesis about the possibility (b} if we go there, we can develop it
of planets parallel to the Earth gets like this Earth
its strength from the fact that

~{a) the scientists have discovered (e) even if we try, we cannot go and
them live there

{b) books have been written about {d) it is impossible for life to develop
them there

Q-OEBA-M-HBU/49A 10




PASSAGE—3

“The doctor’s coming in a minute, Inspector”, said Miss Smith.

“Yes, thank you for phoning, Miss Smith. It was very kind of you ..... the lady’s name is
Mrs. West, you say, ..... "

“Yes, that’s right.”

“And what about Mr, West?”

“Doctor West, Inspector.”

“Oh, I see ..... Well, Doctor West, then. Do you know where he is?”

“Not exactly, Inspector. He never told Mrs. West where he was going. You see, they hated
each other.”

“What do you mean?”

“Well, Doctor West thought that Mrs. West was in love with another man, and everyone
knows Doctor West went to see another woman.”

48, The conversation appears to be fc) disturbing
taking place
(a) in a street where an accident (d} searching
has just occurred

fb) in a hotel where Mrs. West
suddenly became ill 50. “You see, they hated each other.”

“What do you mean?”

{¢) in Mrs. West’s house where the
police are enquiring into lady’s The Inspector seems
murder
(a) to know Doctor West’s secret
(d} in Mrs. West’s house where a
theft has taken place the night

b} surprised to get the information
before

fc) not to have understood
49. The questions the Inspector asks are Miss Smith

fa) inquisitive

fd) not impressed by Miss Smith's
(b} foolish ' information
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Directions :

The following nine {09) items consist of two
statements, Statement I and Statement II,
You are to examine these two statements
carefully and select the answers to these
items using the code given below :

Code :

{aj Both the statements are
individually true and
Statement II is the correct
explanation of Statement |

fb) Both the statements are
individually true but
Statement II is not the correct
explanation of Statement I

{cj Statement [ is true but
Statement II is false

{d) Statement 1 1is false but
Statement II is true
51. Statement I :

In the year 1946, the Council of
the Muslim League accepted the
Cabinet Mission Plan.

Statement II :
The Muslim League proposed to
join the Interim Government.
§52. Statement I :

The blue colour of copper sulphate
crystal disappears when it is
heated strongly.

Statement II :
Pue to heating, water of
crystallization of crystal is lost.
53. Statement I :

After cutting an apple or a banana,
the colour of the cut surface
becomes brown.

Q-OEBA-M-HEU/49A 12
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54.

55.

56.

57.

58.

Stateﬁxent I :

Polyphenolic compounds present
in fruits get oxidized in air and
show colour.

Statement I :

At high temperature, hydrogen
can reduce PbO to elemental lead.

Statement II :

Hydrogen has great affinity to
oxygen.

Statement I :

Conversion of blue copper

sulphate to black cupric oxide on

heating is a physical change.
Statement II :

A change in which chemical
composition does not change is
called physical change.

Statement I :
Water is a high boiling point
liquid.

Statement 1I :

Hydrogen bonding in water is
responsible for high boiling point
of water.

Statement I :

Convex mirror is used as a driver
mirror.

Statement II :

Images formed by convex mirror
are diminished in size.

Statement 1 :

A thermos flask is made of
double-walled glass bottles.

Statement II :

Metals are good conductors while
gas and air are poor conductors of
heat.

...
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59, Statement I :

Bats can catch their prey in the
darkness of night.

Statement II :

Bats can produce and also detect
ultrasound.

60. The Indian Standard Time (IST} is
based on -

{a)j 90° E meridian
(b} 82%° E meridian
(¢} 75° E meridian
(d} 0° meridian
61. Collision-coalescence process of
precipitation is applicable to

fa) those clouds which do not
extend beyond the freezing
level

(b) those clouds which extend
beyond the freezing level

fc) all types of clouds

{d) cumulonimbus clouds

62. Match List-I with List-1l and select

the correct answer using the code

given below the Lists :

List-T List-II
{Map showing ocean {(Name of
current) ocean current)

Kuroshio

Humboldt

2,
C

W

B

:
ki

2
3. Benguela
A 4

Oyashio

Q-OEBA-M-HBU/49A
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Code :

fd A° B C D
2 1 3 4

() A B C D
4 3 1 2

0 A° B C D
4 1 3 2

(dl A B C D
2 3 1 4

63, Which one among the following
nutrients is a structural component
of the cell wall of plants?

{a) Manganese
fb} Potassinm
fc) Phosphorus
fd) Calcium

64. Balanced diet shouid have
approximately
fa) 1/5 protein, 3/5 fat and
1/5 carbohydrate
(b} 3/5 protein, 1/5 fat and
1/5 carbohydrate
(ct 1/5 protein, 1/5 fat and
3/5 carbohydrate
fdj 1/2 protein, 1/4 fat and

1/4 carbohydrate

65. Which one among the following
statements is correct? |

fa) All arteries carry oxygenated

blood

() All veins carry oxygenated
blood

{c¢) Except the pulmonary artery,
all other arteries carry

oxygenated blood

fd} Except the pulmonary vein, all
other veins carry oxygenated
blood
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66. What are cold-blooded animals?

fa) Animals with blood without
haemoglobin

fb) Animals who are not ferocious

{c) Animals whose body tempera-
ture remains constant

(d) Animals whose body tempera-
ture varies according to the
temperature of atmosphere

67. Sickle-cell anaemia is a disease
caused due to the abnormality in

{a) white blood cells
{b} red blood cells
{c) thrombocytes

d) blood plasma composition

68. Carbohydrates are stored in plants
and animals in the form of

{a) cellulose and glucose
respectively

(b) starch and glycogen
respectively

{c) starch and glucose respectively

{d) cellulose and
respectively

glycogen

Q-OEBA-M-HBU/49A

69. Which of the [ollowing statements
regarding oxidation and reduction
are correct?

1. In oxidation, loss of electron
takes place whereas in
reduction, gain of electron
takes place.

2. In oxidation, gain of electron
takes place whereas in
reduction, loss of electron
takes place.

3. Oxidizing agent decreases the
oxidation number but reducing
agent increases the oxidation
number.

4. Oxidizing agent increases the
oxidation number but reducing
agent reduces the oxidation
number.

Select the correct answer using the
code given below :

Code : |

faj 1 and 3
(b} 2 and 4
{fct 2 and 3
fd) 1 and 4

70. Which one among the following is
correct regarding Z2°Ne, 4’Na*,
19F— and 24Mg2+?
fa} They are isomers of each other

{b) They are isotopes of each other

fc) They are isoelectronic with
each other

{d) All of the above
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71. Which of the following pairs is/are

correctly matched?

: Atoms with same
atomic number but
different atomic
mass

1. Isotopes

. Atoms with same
number of neutrons
but different atomic
number

2. Isobars

: Atoms with same
mass number but
different atomic
number

3. Isotones

Select the correct answer using the
code given below :

Code :

(@) 1,2 and 3
b} 1 only

(c/ 1 and 2 only

{d} 2 only

72. Sometimes, indigestion is caused

by the secretion of too much
hydrochloric acid in the stomach.
To ease the pain caused, a tablet
can be taken that reacts to reduce
the amount of acid present, Which
one among the following would be
inappropriate for a manufacturer
to include as a major reactant in
the tablet?

fa) CaCO,
fb) MgCO,
{c} NaOQH

(d} Mg(OH),

Q-OEBA-M-HBU/49A
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T3.

74

75.

Muhammad bin

Tughlaq’s
experiment of introducing token
currency could not succeed on
account of

fa) rejection of token coins by
foreign merchants

{b} shortage of copper for minting
token coins

(c) large-scale minting of spurious
coins

(d} poor quality of token currency

. The Parliament can legislate on the

subjects in the State List if the

{a) President issues an order
authorizing it to do so

fb} Supreme Court gives authority
to the Parliament in this regard

fc) Rajya Sabha  passes a
resolution by two-thirds of its
members present and voting,
declaring it expedient to
legislate on a State matter in
the national interest

{d) Prime Minister issues a special
order

The writ of certiorari is issued by a

superior court to

{a) an inferior court to stop further
proceedings in a particular
case

{b) an inferior court to transfer the
record of proceedings in a case
for review

(¢} an officer to show his/her right
to hold a particular office

(d) a public authority to produce a
person detained by it before
the court within 24 hours
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76. Schemes run under the National 78. A refracting telescope consists of
Rural Employment Guarantee Act

are sponsored {a) one concave mirror and one

convex lens
fa) by the Central Government

alone (b) two convex lenses of equal

(b) partly by the Central focal length

Government and partly by the
State Government fc) two concave mirrors of
different focal lengths
{c) by Centre, State and

Panchayat bodies together (d) two convex lenses of unequal

focal lengths
{d] on public-private partnership

basis
79. The nucleus of a singly ionized
77. The World Bank was created carbon atom contains

immediately after the Second World
War. Its activities are focused on fa} 6 protons and 6 neutrons
the developing countries. Which
among the following are the {b) 5 protons and 6 neutrons
activities of the Bank?
1. Human development {c) 6 protons, 6 neutrons and
2. Agriculture and rural 6 electrons

development
3. Environmental protection and (@) 12 protons, 6 neutrons and

governance 6 electrons

4. Loans and grants to the

member countries 80. Two similarly charged bodies are

kept 5 cm apart in air. If the second
body is shifted away from the
first by another 5 cm, their force
of repulsion will be

Select the correct answer using the
code given below :

Code :

fa) doubled
faj 1, 2 and 3 only

b) h
{b) 3 and 4 only (b) halved
() 2 and 4 only {c) quadrupled
(d 1, 2, 3 and 4 . (d} reduced to one-fourth

Q-CEBA-M-HBU/49A 20




76. TP T TorTR e arfufEm &
7t AR ATy o6 St &

(@) FIA FE TR gU

(b) Sl T4 A ¥ G 3N il
9 ¥ UG a@&H 3

(c) ¥, U9 R voma Pl g
THATY

(d) aEsitE-fEh wanfia % snun w

77. T4 S 71 gom il e 12 ¥ o e
& T oo Ew e e
ont W Hfw ¥ Preafafes § @ @93,
T % & fpammem §7

1. wHa e

2. Fu @ aefin fem

3. UgiEt G G wE

4. HeE 2 W AgE

M= R Mg W oW W o aw
L

Hhe
fa) FaA 1, 233

(b) Fuel 3 I 4
fc) a2 a4

(d 1,2, 334

Q-OEBA-M-HBU/49A

21

78.

E G o = B B

(a) T ITTaE T07 IR TF IR o9
{b) wﬁwqﬂ%amém

(c) B v g & 3 erme o

(d) FEHH BIRT T F < 9 o

79. THY FEMG FEA 9w & TR § w0

g 37

(a) 6 A 3R 6 =g

(b) 5 9RM W 6 =

(c) 6shﬁ:r,6rqghsﬂt§3éa§h

(d) 12 WTR, 6 = 3 6 ez

80. ¥ -l fivet 7 # wh-g@ @

5 cm gl W @ T 2| Tk gmt e =
Te fivg @ 5 cm o fwerRa e
I 8, @ A Wfaed @

fa) <A1 E ST
(b} 3T STW
(¢} T E S
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81. A glass of water does not turn into 83. The equatorial rain forest is also
ice as it reaches 0 °C. It is because known as

faj Savanna
fa) water does not solidify at 0 °C

{b) Campos
{b) a certain amount of heat must fc) Selva
be supplied to the glass of
water so as to solidify (d} Lanose

84. Match List-I with List-1I and select
the correct answer using the code
given below the Lists :

{c) a certain amount of heat must
be taken out from the glass of
water so as to solidify

List-I List-11
(Port} {Special feature)
{d) wdter solidifies at 0 K only ks
A. Kandla 1. Deepest land- )
locked protected 1
port
B. Kochi 2. Located at

82. The main power supply in India is

th of |
at 220 V, whereas that in the US moutt of lagoon

is at 110 V. Which one among the C. Vishakhapatnam 3. Tidal port

following statements in this regard :

is correct? D. Kolkata 4. Inland riverine
port

e} 110V is safer but more Code :

expensive {o maintain

(b} 110V is safer and cheaper to
maintain (b)) A B C D

{¢] 110V leads to lower power loss fc) A B C D

4 1 2 3

{d] 110V works better at higher {d A B C D

latitudes 4 2 1 3
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85. The Earth’s surface receives
maximum energy at 12 noon but
the maximum temperature never
occurs at 12 noon. State which of
the following reasons are correct.

1. Transformation of solar energy
into heat requires some time.

2. The loss of energy through
long-wave radiations from the
Earth’s surface exceeds the
energy received from the Sun
at 4:00 p.m.

3. Energy received by the Earth
from solar radiations continues
to exceed the energy lost by
outgoing long-wave radiations
from the Earth’s surface up to
4:00 p.m.

Select the correct answer using the
code given below :

Code :

faj 1 and 2 only
(b) 2 and 3 only
¢} 1 and 3 only

(d 1,2 and 3

86. Certain parts of a plant can be bent
easily without breaking. This
flexibility in certain parts, like leaf
and stem, can be attributed to the
abundance of
fa} parenchyma
(b) collenchyma

fc) sclerenchyma

{d) xylem and phloem
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87. Which of the following is not a

micronutrient for a plant?
{a} Iron

(b) Magnesium

{c) Molybdenum

(d) Manganese

88. Which of the following statements

is/are correct?
1. Ligaments are highly flexible.

2. Ligaments connect muscles
and bones.

3. Ligaments contain very little
matrix,

Select the correct answer using the
code given below ;

Code :
(@) 1, 2 and 3
{b) 1 and 3 only

(c/ 2 and 3 only
{d} 1 only

89. Cell membrane is  selectively

permeable because

fa) it is made up of selected
organic molecules

(b) it does not allow transport of

. some substances from region

of higher concentration to the
region of lower concentration

fc; the movement of organic
molecules occurs only at
specific concentration

{d} it allows the movement of
certain molecules in and out
of the cell while the movement
of other molecules is prevented
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O-OEBA-M-HBU/49A 25

87. Profifan & @ #R-w &9 & o gem-

Qe TEt 37

(a) e

(o) Pefifiram
fc) wifere2an
(d) TS

88. fafifiga =t & @ w-w1/@ v /%7

1. ¥ ¥ead wdiet 2 £

2. g, Wfimt ofi afEt i el )

3. g ¥ 9ga B TegE BN B

e i M oFR W OEm Wl IW
g

e

(@ 1,233

(b) waw 1 3R 3

(¢} Faa 2 3 3

(d) a1

sg.aﬁﬁmma@mﬁ:mﬁ?ﬁ%,

it
(a) T St 99 et & ot Eh B

(b) TR IAG HiEA At &7 } e
Al I &3 H AN FT W H
i 7 8

(c) ¥ e H gEeH Faw Tl
|z W Fa §

(d) T® FT YRR F I AT AR H
A g9eq H B # | 9

t TofF g el ¥ duew ;N
U e wman

[P.T. O.




90. The following equation is an exampie
of a redox reaction, in which Cl, is
the oxidizing agent and FeBrj is the
reducing agent :

2FeBr; (ag) + 3Cl, (2} = 2FeCl ;(aq) + 3Bry 1)

Which one among the following
statements is {incorrect for this
redox reaction?

fa) Oxidizing agents are
themselves reduced

{b) Reducing agents gain or
appear to gain electrons

fc) Reducing agents are
themselves oxidized

(d) Oxidizing agents oxidize other
substances '

91. Which one among the following
nitrogen compounds has the least
percentage of nitrogen by mass?

{a} (NH4]3 PO,
{b) NHy

fc) NH,OH
(d} NH,;NO,

92. Which one among the following is
the correct order of amount of
lime (CaQ), silica (Si0,), alumina
(Al,O3) and ferric oxide (Fe,0j3) in
Portland cement?
fa} CaO>S8i0, > Al,03 > Fe,04
(b) Si0,; > CaO> Fe,05 > Al,04
¢} Al;O5 >8i0; > Ca0 > Fe,04

(d) Fe,05; > Al,04 > 8i0O, > CaO
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93. Which one among the following

transitions of electron of hydrogen
atom emits radiation of the shortest
wavelength?

fa} n=2ton=1

{b) n=3ton=2

{c/ n=4ton=3

{d n=5ton=4

94. Which one among the following is the

most appropriate statement with

respect to the atomic weight of an

element?

{a) The atomic weight of an
element is the sum total of the
number of protons and
neutrons present in the atom
of the element

(b} Unlike mass number, the
atomic weight of an element
can be a fraction

fc) The atomic weight of an
element is a whole number

(d) The atomic weight of all the
atoms in an element is the
same

95. During the discussion on the

Demands for Grants, moticns can
be moved to reduce the amount of
a demand. Such a motion is called
a ‘cut-motion’. Which of the
following categories are classified
as ‘cut-motion’?

1. Disapproval of policy cut

2. Economy cut

3. Token cut

Select the correct answer using the
code given below :

Code :

(@) 1 and 2 only

(b) 2 and 3 only

fc} 1,2 and 3

fdl 1 and 3 only
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96. Which of the statements given below
is/are correct?

1. The Speaker immediately
vacates his/her office whenever
the State Legislative Assembly
is dissolved.

2. No Member of a State
Legislative Assembly shall be
liable to any proceeding in any
court in respect of anything
said or any vote given by
him/her in the legislature.

Select the correct answer using the
code given below :

Code :

fa) 1 only

(b} 2 only

fcj Both 1 and 2
{d) Neither 1 nor 2

97. Consider the following statements
about Cripps Proposals of 1942 :
1. Provision was to be made for

participation of Indian States
in the Constitution-making
body.

2. British Government undertook
to accept and implement the
Constitution.

3. All provinces of British India
were to give an undertaking
about the acceptance of the
Constitution.

4. In the ongoing World War, no
resources of British India
would be used.

Which of the statements given
above is/are correct?

fa) 1 and 2 only

(b} 2 only

fej 1,2 and 4

(d) 1, 3 and 4
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98. Which one among the following

was not one of the causes of the
Third Anglo-Maratha War?

{a) The Maratha Chiefs,
particularly the Peshwa
desired to throw off the
restrictions imposed on them
by the treaties with the English

{b) The determination of the
English to give a finishing blow
to the Maratha power

{c¢ The Pindari designs to seek
support from the Marathas to
drive the English away from
India

fd} The attack of Peshwa Baji Rao
on the residency at Khirki

99, William Bentinck attempted to

reform Hindu society by
suppressing/abolishing social evils.
Which one among the following was
not included in them?

{a) Sati

(b) Infanticide
{c) ‘Thugi

{d} Slavery

100. Karam is a festival celebrated to

worship Karam Deuvta, the God of
power. Which one among the
following tribal communities in
India traditionally celebrates this
festival?

fa) Santhals
(b} Karbi
fc} Meenas

{d) Bhils
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101. The terra-cotta plough of the
Harappan civilization was found at
{a} Mohenjo-daro
{b) Banawali
{c} Kalibangan
{d} Lothal

102, Which one among the following

works of Mahatma Gandhi provides

a critique of modern machine-

oriented civilization?

fa} The Story of My Experiments
with Truth

(b) Hind Swaraj

{cj Constructive Programme

(d) Anasakti Yoga (Commentary
on ‘Gita)

103. An object is in uniform circular
motion on a plane. Suppose that
you measure its displacement
from the centre along one direction,
say, along the x-axis. Which one
among the following graphs could
represent this displacement (x)?

TR ANNAWNAY
VARV,
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104.

105.

106.

The penetrating power of X-rays can
be increased by

a) increasing the current in the
filament

{b) decreasing the potential
difference between the cathode
and the anode

{c) decreasing the current in the
filament

{d} increasing the potential
difference between the cathode
and the anode

8
T C
B

7 =0

The graph given above indicates
change in temperature (8) when
heat (Q) was given to a substance.
Which among the following parts
of the graph correctly depict the
latent heat of the substance?

fa] AB and BC
(b} BC and DE
(¢ CD and DE
(d} DE and AB

When a solid object is immersed in
water, there is a loss in its weight.
This loss is

(a) equal to the weight of the water
displaced

(b} less than the weight of the
water displaced

{c) greater than the weight of the
water displaced

not related to the weight of the
water displaced
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107. Body A of mass 2 kg and another 109. Consider the following coal mines of

body B of mass 4 kg and of same India :
material are kept in the same

sunshine for some interval of time. 1. Bokaro
If the rise in temperature is equal ]

for both the bodies, then which one 2. Adilabad

among the following in this regard

is correct? 3. Raniganj

4. Bishrampur
(aj Heat absorbed by B is double

because its mass is double Select the correct sequence of the

above from east to west.
{b) Heat absorbed by A is double
because its mass is half

(o) 1-3-4-2
fc) Heat absorbed by both A and B

is equal because the quantity
of heat absorbed does not {b) 3-1-4-2
depend upon mass

{c) 3-1-2-4
{d} Heat absorbed by B is four

times than the heat absorbed

by A because the quantity of {d) 1-3-2-4
heat absorbed is proportional

to square of the mass

110. Which one among the {ollowing
agricultural crops/groups of crops
may be grown in abundant in
lowlands and river deltas of fertile

108. For a steel hoat floating on a lake,
the weight of the water displaced by

the boat is alluvial soil where there is high
summer temperature and rainfall
{a) less than the weight of the boat varies from 180 cm to 250 cm?
(b} more than the weight of the fa) Wheat and sugarcane
boat
{b) Cotton
{c} equal to the weight of the part
of the boat which is below the
water level of the lake ) Maize and coarse crops
{d) equal to the weight of the boat {d} Rice, jute and tea
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R R 2 Rt & aoam d S<ed
U 2, & W Wy ¥ Prafafea § @
HR-9 TF 98 27

(@) BT S S0 § T § FifE
IHFH FEAM & R

(b) AT IS F= @ R R HiRR
IS THAH I ¢

c) A 3T B EME T TR 8
ifs Faefia Fm Y 9 semE
W it 7t

(d) B T 3@WEd F®N, A FTU
Wt FO 8 IR TR i
AT I HE, FAUE F
il ¥ g ot &

108. T& e W & et 3qma Y ara & fim
a9 g feenfa o & s Reem 27

fa) % W W H
b) T F AT F Fw=T

c TE % W 9M F AR F a0 AN
A & ot ) aae F = 2

{d) 9 F TR F T
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109, WG F Ffaflas waen el W o=

hifer :

1. SR
2. fderErR
3. T

4, Fasmg

3G H qE W uBEm R Rl agw
gl

fa)j 1-3-4-2
{(b) 3-1-4-2
{c 3-1-2-+4

(d) 1-3-2-4

110. frafofes #  wuai/waa wqg &

F-m w3, B fegfiet 4 e
IS Tele ga % AR Fezed A 9
o R ST W AT 2, VR 3= S
A9HH B 8 3 anf 180 cm ¥ 250
cm F FEad &7

fa) 7§ 3 @
(b) A"

(c) TE M DA wEA

(dj |Ee, 9eE 3N T




111. Arrange the following tropical forest 114. Which one among the following is the
groups in the correct order of most important source of fish catch
sequence based on area covered in in India?

India beginning from the largest

{a) Deep-sea fisheries
covered area :

{b) Coastal fisheries
fc) Inland natural fisheries
{d) Inland cultural fisheries

1. Moist deciduous
2. Dry deciduous
3. Wet evergreen

4, Semi-evergreen 115. In which one among th_e followirfg
areas of South-East Asia, there is
Select the correct answer using the largest concentration of peasant
code given below : population?
Area f intensi hifti
Code fa) Are 's .0 intensive shifting
cultivation
faj 1-2-3-4 (b) Highland areas where the
climate is cooler and healthier
fb) 3—4-2-1 )
fc) Cleared lowlands in forest
fcj 1-3-2-4 areas
{d) 4-3-2-1 {d} Areas where the grain farming

is practised

112. Which one among the following is the
major reason for low agricultural
productivity in dry regions of India?

116. The largest number of temperate
cyclones originate mostly over the

{a} Indian Ocean

b} North Atlantic Ocean
(¢} North Pacific Ocean
{d} Arctic Qcean

fa) Constraints of financial
resources

() Rural indebtedness

(c/ Dependence on erratic

monsoon 117. Which one among the following

(d} Small size of landholdlngs statemnents is not correct?

fa) More than 50% of world’s
animal species are found in

113. Which one amocong the following tropical rain forest

oups is referred to as es of
ieciﬁait&tion" wp (b} One-third of land surface is

arid or semi-arid

(a) Fog, Dew and Rain {c} Floating plants (phytoplankton)

(b) Air, Water and Soil in the ocean produce over half

e W 4 Ra the world’s oxygen
{c) Fog, Water and Rain {d} World’s important deserts are

(d} Dew, Soil and Rain located across the equator
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111. Fefafan swmitefin @ @t =1, wa
T 3Tga &9 % AUR T Fean g9 &
¥ WO W AR AR A afe
HiRm :

T qofaredt

& QUi

HIZ gl

e -Herguff

L b=

2 fw Mg w1 oM W oW
EELE

H

fa) 1-2-3-4

(b) 3-4-2-1

() 1-3-2-4

(d) 4-3-2-1

112, 904 & % &3 # e S Jeameamen @
we R, tefaf 3 @ w-a o 20

fa) fo<fta geneet = gema
(b) TTEior AR

(c) TFraa wiagg T fasfeen
(d) R H B IR

113, FefaRea & & #F-w & wgg, =don
TR FET ST g7

(a) FEU, 3ira it aut
(b) =Y, S I N
(c) Faq, A iR Tui
(d) 3T, gar iR auf
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114, Frefafa @ & f9-w &, wwE § wodh

THS T A &A Hid &7

(a) THR-TIR e

(b) T wTeEH

fc) =TT Whae Aol
(d) IFaxacy gada-neerd

115. fw-gd i & Fefafa & @ e o

& § Fus SuEn w1 A e
27

{a) TTEA TN FEd b A

(b} I=MW & T IAE IWEFA
3ve! AN WAy BT

{c) =7 &at 7 Fda frongfy
(d) 38 TE I R w0 v=ed 2

116, 3ifteran o o widon awama sitivE:

e W yE B 7
(a) f&= wEET™
(b) I A HEETR
(c) ITQ YuA HEETR
(d} STy FEHIR

117. F=ffas & @ -1 & s & T

27

fa) TER it 50% & it it et
IoRfa-thg ot a7 § aeft s §

(b) T-foreTé vuE Y& W endyss @

(c} WEEPR # Wt U (YrRueHEs)
wan di Y B e oiedsH
Iaqifed A §

(d) TER R ey wevfy fagem ou &
FR-9R mafea §

[P.T. O




118. Which one among the following

statements

regarding  Chinook

winds is neot correct?

(@)

(b)

(c)

{d)

They rise from the Pacific
Ocean

After crossing the Rockies, they
descend to "the east of the
mountains

They bring rainfall
Prairies

in the

These winds are beneficial to
wheat cultivation

119. Consider the following statements
relating to planning in India :

1.

In the year 1938, the National
Planning Committee was set
up in India under the chair-
manship of Jawaharlal Nehru.

The Bombay Plan was
prepared by the Indian
industrialists.

Acharya Kripalini prepared the
Gandhian Plan.

Which of the statements given
above is/are correct?

(a)
(b)
fc)
(@)

1 only

2 only

1 and 2 only
1,2 and 3

120. Which one among the following

statements

regarding the

Government of India Act, 1935 is
not correct?

(a)
(b}

(c]

(d)

Provincial Autonomy came into
existence

Bicameral legislatures
provided in six provinces
The principles of communal
electorates and weightages
were further extended

The States were compelled to
enter the Federation

were
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121.

Consider the following statements

relating to Jain literature :

1.

The sacred books of the Jainas
are known as Siddhanta or
Agama.

The language of the earliest
Jain texts is eastern dialect of
Pali known as Ardha Magadhi.

Which of the statements given
above is/are correct?

(a}
(b)
fc)
(d)

122.

I only
2 only
Both 1 and 2

Neither 1 nor 2

Which one among the following was

a newspaper founded and edited by
Raja Rammeohan Roy?

(a)
(b)
(c)
fd)

The Calcutta Gazette
Mirat-ul Akhbar
Harijan

The Bharat Mihir

123. Which one among the following
is not produced by sound waves
in air?

(@)
(b}
{c}
(@)

36

Polarization

Diffraction

Reflection

Refraction




118. & vaqt & AR # fi=fafaa § @ FA-w

TF wYA ot 7E 87

(o) 3 T9TG WEFIR ¥ Fad ¥

(b) U wedl I URER I ydat F ¢ A
TWE TN Fd &

fc) 3 a7t vt & aui o #

(d) A v W N G F fog e
%

119, yra & Swn-finfn § oafm il
FYAl 7 fem Hifsm .

1. a9 1938 # waend J8E &
Hegear & WA § a¥ g il
H TS AT 91|

2. 99§ AN W SENTIREt g
w1 T o |

3. IR Fuarl 3 i Fem = dan
ERI

I wA § @ B-w1/8 'l R/

(a) Fad 1

(b} FEA 2

() wFaa 1 3t 2

{d) 1,233

120, WG R Afufam, 1035 F S o

fafafas # @ FR-a1 & o wd T

27

(o) W= EEar afee § s

(b fmeht faurmes @ w=
Iyafim fag T

(c) amgEifer  fafes &3k
sftfaftioe & fgm om ek
forenea fomg g

(d) TGl F HErEw # viiE 9 ¥ g
a1 T T

Q-OEBA-M-HBU/49A

37

121, 9 Wit & ) § f=tifioe =@ &

famm #ifsre

1. S % ol gy R ar sm &
9 H 99 9 ¥

2. AREA 99 Ut 9 oy 6
o Siedt @ SR skl @ #

I FoA F ¥ AT/ v 237
(a) Fae 1

(b) aw 2

fc) 13 2 ast

(d) Fa1MAd2

122. fr=fafan & @ *9-w s, v e

T S e o gmifed goER-ww
q7 :

{a) 7 Forwar e
(b) fHIA-37 IEER
(c) &R

(d) Z una fifit

123. fafofeam & @ ®F-w w ag 3

eafr-att g Iafed w2 dar?
(@) g

b) Trda

(c) TUEdRa

(d} g
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124. A body attached to a spring balance
weighs 10 kg on the Earth. The
body attached to the same spring
balance is taken to a planet where
gravity is half that of the Earth.
The balance will read

fa} 20 kg
(b} 10 kg
{c] S kg

(d} 25 kg

125. The resistance of a wire is 10 Q.
If it is stretched ten times, the
resistance will be

fa} 1 Q
(b} 10 Q
fe} 100 Q
{d} 1000 Q

126. If the focal length of the biconvex
lens is 25 cm, then the power of the
lens will be

{a) +4 dioptre
(b} -4 dioptre
fc) +004 dioptre
{d) -0-04 dioptre

127. The thermal conductivity of copper is
4 times that of brass. Two rods of
copper and brass having same
length and cross-section are joined
end to end. The free end of copper
is at 0°C and the free end of
brass is at 100 °C. The temperature
of the junction is

(a} 20°C
(b} 40 °C
() 60°C
(d) 10°C
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128. The torque on a rectangular coil

placed in a uniform magnetic field
is large when the

{a) number of turns is large
(b} number of turns is less

(¢} plane of the coil is perpen-
dicular to the magnetic field

fd) area of the coil is small

129. Two metallic wires A and B are of

same rmaterial and have equal
length. If the cross-sectional area
of Bis double that of A, then which
one among the following is the
electrical resistance of B?

(a}j Twice that of A
{b} 4 times that of A

{c) that of A

N

{d 1 that of A

B =

130. Two thin convex lenses of focal

lengths 4 cm and 8 cm are separated
by a distance of 4 cm in air. The
combination will have the focal
length

(a) 4 cm

(b} 8 cm

fc) 12 cm

fd) 32 cm




124, FAMH g W weER B five =1 awm
gefl W 10 kg 1 I wAMT gom @
@ fivg A fodt W@ W & s
s R, Fre e yEht % R W
37T 2| g I 93 41 QY

(a) 20 kg
(b) 10 kg
fc) S kg

(d) 25 kg

125. Rt v @1 7y 10 0 21 AR =@
10 71 &t s, &t 9y ®n @m?
@ 1Q
() 10 @
) 100 Q
(d) 1000 Q

126. 3R fi3wa o0 F BFA 3 25 cm B, @
T\ F A+ e
(@) +4 TR
(b) -4 TEX
{c) +0-04 SR
(d) -0-04 S

127. @ N IW-SARA fad F FEI-
|Terkal A T ) T iR fae 6
@ B3, fht wand ofi argw whede
T g, R 2 R fees S s 8
T % g B 0 °C W aw daw w1 g
R 100 °C w ¥ Yy % qwE w0 27
{a) 20°C
(b) 40 °C
fcj 60°C
(d} 10°C
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128, THEAH YR &% W T SAREEn

FUSTH T T T Fgg B, o
fa) W0 T AR B
(b) W & Em R

() Fveell + ad gEHFE &7 F
I A

(d) Fsh 1 & Drer =

129. @ € o @ o gu @ wifes @l A ik

B i Tl SR 1 e B gy
viede &9 A & Iy ui=ds & =
7 A, 9 sfafea § & FR-w w, B
%1 dga iy 7

(@) A% 3x@ Wiolg %1 g

(b) A% @ VY F IR T

() A% Iga yioow =1 L

(d) A% dgd shedy =1 L

130. 4 cm 3N 8 cm WA g T A TaA

SO o T 0 4 om g0 @ g £
HAA A BFR T F?

fa) 4 cm
(b) B cm
fc) 12 cm

{d) 32 cm
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131. The Damuda series of Gondwana 134. Where do you find the Isle of Youth?
system has three stages, namely,
Raniganj, Barren Rocks and (@) Near Cuba
Barakar. The middle stage is called

Barren because {b) Near Bahamas

fa) it consists of coal and not iron {¢) Near Jamaica

{b} it consists of iron and not coal

fc) it consists of neither coal nor (d}_ Near Saint Lucia
iron
(d) it is a sedimentary layer 135. For which among the following house
consisting of shale and clay appl'il’ances, magnet is an essential
part

132. The cyclonic storm occurring over
the Caribbean Sea is known as

fa) Typhoon b} Fan

(b) Willy-Willy

(c) Hurricane

{d) Cyclone {d} All of the above

{a} Calling bell

fc) Washing machine

133. Match List-I with List-II and select 136. Consider the following statements :
the correct answer using the code

given below the Lists : Hypermetropia is a defect of vision

in which
List-T List-II _
(Mountain pass) (State) 1. a person cannot see the distant
A. Zoji La 1. Himachal objects clearly
Pradesh 2. a person cannot see the near
B. Lipulekh 2. Sikkim objects clearly
C. Shipki La 3. Uttarakhand 3. the near point of the eye gets
D. Nathu La 4. Jammu and shifted away from the normal
Kashmir position
Code : 4. the far point of the eye gets
oae : shifted towards the eye
{faj A B C D , .
9 1 3 4 Which of the statements given
) A B c D above are correct?
2 3 1 4 {a) 1 and 3
) A B C D (b) 2 and 4
4 1 3 2
4 3 1 2 {d) 2 and 3
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131. Tigamn W i Io@ Aol % A ww g,
A, TS, S T 3R et | 99
= Wl A Fed ¢, it
(a) TEH Frre B ¥ AN g ol
(b) T R B & SR B TE

(c) T@H 7 @ B drar & T @
e

@) T B s g @ 0 g omad
LGRS

132, HifmT avr § I aren Sward TEE T

HgArn 27
(@) TR
(b) Tt -foreht
(c)
(d) <FamT
133. -l W gA-I | gafem Hifg s
it & 2 g T g W e W oad
3T ﬁﬁﬂ :
-1 -1
(werdt =) (=)
A, S & 1. fooee wm
B. fagaw 2. Tl
C. firft & 3. IWEE
D. Fiyar 4. SH]-FIHR
%
{a) A B C D
2 1 3 a4
() A~ B C D
2 3 1 4
g A B C D
4 1 3 2
dd A° B C D
4 3 1 2
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134, ‘3A % 39 Ha fiea §7

(a) T & ke
(b) wETE % frRe
fc) HE % free
{d} @ it F e

135. g%, Fefafies T2 st § 3 fre

HAEF Wit 27
(@) FAH N wwd
(b) @

(c) yems mi

(d) I W

136. fAfafaa sudt w faar Hifkm .

g =1 & I defef B, firas

1. i =uafs qRa ag ® wWyam T
3G g 2

2. w1 =fw freew ag & wEan
T& <@ T R

3. @ = e fog amma il @
g e W ?

4. 3@ w g fog wew atw H
3R 1 e B

I FU T § BA-G T 27
fa) 133
(b) 234
c) 13M4
(d) 233
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137. To obtain the powerful parallel

beams of light from a vehicle’s
headlight, one must use

{a) front surface silvered plane
mirror

fb) back surface silvered plane
mirror

(c) concave mirror

{d) convex mirror

138, Which one among the following is

the major constituent of soda lime
glass?

{a) Sodium oxide

fb) Calcium oxide

{c) Calcium carbonate
{d} Silica

139. Which among  the following

about Mahatma Gandhi’'s Non-
Cooperation Movement are correct?

1. Refusal to attend Government
Durbars and official functions

2. Participation in elections

3. Participation in rallies for the
boycott of foreign goods

4. Surrender of tities

Select the correct answer using the
code given below :

Code :

faj 1,2 and 3
fb) 1, 3 and 4
fcg 2,3 and 4
{d) 1 and 4 only

140. Gandhiji’s call for breaking Salt Laws

was in response to the

fa) Non-Cooperation Movement
(b} Civil Disobedience Movement
{c) Khilafat Movement

(d} Quit India Movement

Q-OEBA-M-HBU/49A

141. The Suez Canal, the Strait of

Hormuz and the Strait of Gibraltar
are important because they

(o) prevent attacks on bordering
nations

{b) prohibit the movement of ships
carrying nuclear weapons

{c) unite Russian access to warm
water points

{d) control access to vital trade
routes

142. Which one among the following is

the largest exporter of small arms in
the world?

{a) Russia

(bp) The United States
fc} China

{d) France

143. Which among the following islands

in the South China Sea are the
source of conflict between several
countries?

{a) Marshall Islands
(b) Solomon Islands
{c) Kuril Islands

(d) Spratly Islands

144. In recent past, the Indian Navy has

deployed its fleet ships te patrol
near the Gulf of Aden to

{a)j show off its naval might to
neighbouring countries

(p) indicate dominant intentions
in the Indian Ocean region

fc) carry out anti-piracy role

{d) exercise operational readiness
in international water




137. 5 T & s | w1 iR
TR W 9 F fo o sw # e
aifeu?
fa) 3T YE WA-ITAG gaae 90
(b) U J% a-ITRRE wHae gdu
(c) ¥Eae =q0
(d) I Y

138. f=fifigs & @ =R-w1 &, W€ @En
T W1 YT 0 87
(o) Wifem siwage
(b) Sfcaam ariegs
fc) Hicm FERe
(d) Taferm

139. #ETew M F FWEET M= $ TRy
# frferfae & @ 92 9d &7
1. W sEn ot g yewEl o
IR B | IFR
2. gAE A eyl
3. foeeft asgell & s & fawg
Yort & wewrfirn

4, JqtrEl TG

" Re w2 & W@ W owd IW

IR ;

e =
(@ 1, 23R 3
(b) 1,334
{c) 2, 334
(d) a1 3k 4

140. 9% FFF * dlg H TN w1 ER
fermeht wiafsra o ar?
(a) ITHEER I
(b) W s e
{c) Tiaamra =ieq
(d) YA BIF! A<

Q-OEBA-M-HBU/49A

43

141. |9 TR, AW vAenEn IR Feee

SeTgREAY gaf wewyl €, #ifE 3

fa} Hr @ TS W IO F O

2

(b) TERE Pl ¥ W weel
fsiier = aiftE @ &

(c) & afirm ® Fw SA-wA @
Sige @

(d) TeTEqE AT A | AR

frafa w &

142, fr=fiflen & @ FR-w o, fog & oy

TR @1 T we Fatas &7
fa) &4

(b) T Rw
c) <M
(d) HE

143. =l <fm amm # faffas foeg # &

-9 T, FS 291 F 7 g
27

(a) TS FUEEE

(b) AT Fowg

(c) T dweg

(d) Heeh doeg

144, T & A v @ 3 o AP

el R A 3 f @ F ardiw T

3 Frafr wifaifa fm 27

() TS 2w @ arwht AEfE wiw &
¥eH vy

{b) WS WEETR W& § WEe gedl #
Hard F T |

(c) ereeg-fatdl qftmm fm 3g

(d) Faita So § qh=red o &
I F 7Y _
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147. Who among the

145. The only operatior{al Naval Base

exclusively controlled by the Indian
Navy is located at

{a) Puducherry
(b) Okha

{¢) Karwar

(d} Kakinada

146. Who among the following led India to

their first overseas test victory in
cricket?

fa}j C. K. Nayudu
(b} M. A. K. Pataudi
{c) Sunil Gavaskar

{d) Bishen Singh Bedi
following was
conferred the highest Bangladesh

award—the Bangladesh Swadhinata
Sammanona in the year 20117

fa} Indira Gandhi
(b} Rajiv Gandhi
fc) Jyoti Basu

(d} Satyajit Ray

148. Dhanush, a missile inducted into

the Indian Navy

{aj is a customized and naval
variant of Prithui missile

(b} has a range of 700 km

fc) can be launched from an
aircraft

(d} cannot carry nuclear warheads
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149. India

commissioned its  first
indigenously built stealth warship
INS Shivalik and inducted into the
Indian Navy recently, thus joining
the elite group of countries capable
of constructing such vessels. Which
among the following other countries
are in the elite group?

1. Russia

2. The United States
3. Germany

4. The United Kingdom

Select the correct answer using the
code given below :

Code :

faj 1,2 and 3
(b} 1, 2 and 4
{c¢/ 2 and 4 only

({d} 1 and 3 only

150. Which of the following statements

is/are correct?

1. The Indian Army is organized
into five Regional Commands.

2. The Headquarters of Northern
Command is located at
Lucknow.

Select the correct answer using the
code given below :

Code :

{a} 1 only

(b} 2 only

fc; Both 1 and 2

(d) Neither 1 nor 2



x
?

145. 3 ® ¥ wdE A g b,

R B R o wel sl
27

(@) TR
(b) G
fc] THFEAR

(d} IS

146. 7 A f5Es Jge A v@ @) Brde Tl

farefi 2 1 7 foom feamd?
{a) ®io %o T

(b) Te To Fo WK

(c) T R

(d) foem g 3

147, fafafag 4 @ "2 =d 2011 4 ey

% WaEm QEER ArARe e
TEFAT & a1 T oY

(a) fem A

b) T mith

c) =g

(d} TaRmm

148. ¥Rdlm S 4 wim e o vaus

RES

o) ‘gt wEUTE W UH gHRm iR
- éfe T d

fb) 700 km I Yo ateT &
{c) Torelt argam @ Sigr s T 2

(d) Threb e ® 9 ¥ =
Hahdl

Q-OEBA-M-HBU/49A

149, WRA 3 3 wawew o ww @ fiffs
. ggia INS fienfm @ e @ A e

W aREr A 8 wiae e sw s
I8 W F 3@ AieE o § wheE @
T, S 38 YRR % qa-fi 8 gem #)
39 AfYsH o § Prefafs 4 @ -2

TEes feen
o fr T w W oW W R TN
e
e
@ 1,233
(b) 1, 23 4
(c) Faet 2 3R 4
(d) F3a13nr3

150, F=fafad st § @ s0-51/8 w8 /37

1. wNdE oe@ o= acfle sl o
i 2

2. I WM ¥ JERE A@Is o
fesra &1

=N Ry w2 =1 W@ W wd =W
T :

2

f@) ¥ 1

(b) F= 2

fe) 132+t

{d} FA1MALE 2
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Note : English version of the instructions is printed on the front cover of this Booklet.



